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BCLP (Basic CLP) : 8= A EZ|X| HEHCHS
B : O|= AT&T Bell 3 +22| Ken Tompson, 19705 & H
C: O|= AT&T Bell ¥4 2| Dennis Ritche, 1972

C++ : # CO| Al OOP(Object Oriented Programing, 28 X| X|
ot =80l i E =7t
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- CR0o| &~
= ANSI C (American National Standard Institute) :
HF=2HAY, “Standard C"
= Visual C : Microsoft AtO|| Al 7HE
- Borland C : Microsoft AFOf| Al 7 &t

. ZT2O| BHSO| X &= HA}

= Source Code --> Source File ( *.c) --> M X 2| X|
AOI7EHY

> Source File --> Object File (*.0bj) --> Executable
File(*.exe)



- "from sea to shlnlng C'E E8ot= =21 &y

- 2AFEET|S AH8OLO] ChEat 22 W8S ZHX| & I
QS XM Ot 2HEXTE O U0 ES = (o1|,
sea.c)

#include <stdio.h>
int main(void){
printf("from sea to shining C\n");

return o;
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- "from sea to shining C\n"
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- printf("from sea to shining C\n");
- printf 50| 227} /7| {0 printfO= S=+Y.
- M€ Foff MO]=E ;0| 7| =0 O] "2 =& Y.
« F,COAM 2= 282 M0ZEL2=2 £H.
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printf()

- 2 HO|| E85t= g
Od’—."i*.EEprl tfO7t = 7, 7ol L=
prmtf()o| =82 Hfi *prmt ()O| OrX |2 =5 9
KOl MFE Al 25K = oL,
- &, CIZ printfQ=
printf("from sea to shining C\n");
C}S T} ZH0| AFRYHE 2 S22 wirt,
printf("from sea to ");
printf("shining C");
printf("\n");



#include <stdio.h>

int main(void){
printf("\n\n\n\n\n\n\n\n\n\n");
printf(" %%%%%%%%%%%%%%%%%%%%%%%%%%\n");
printf(" * from sea *\n");
printf(" * to shining C *\n");
printf(" %%%%%*%%%%*%%%%%%%%%%%%%%%\n");
printf("\n\n\n\n\n\n\n\n\n\n");

return o;



A A

/ * The dlstance of a marathon in kilometers. */
#include <stdio.h>
int main(void)
{

int miles, yards;

float kilometers;

miles=26;

yards=385;

kilometers=1. 609*(miles + yards / 1760.0 );

Ermtf ("Wn A marathon is %f kilometers. W¥nWn",
ilometers);

return o;

-

==> A marathon is 42.185970 kilometers.
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int ping, pong, hap;

scanf("%d%d", &ping, &pong);

hap = ping + pong;
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printf("H 3} F2] 32 : %d\n", hap);
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/* The distance of a marathon in kilometers. */
o FMHEZ /*2*/ 2 SE{MOL
- int miles, yards;
o MAFE M= miles, yardsZt A4t 7HK| = Bl
- /U EL EE 2 MOESELE 2.
 float kilometers;
- MAZR, H== kilometersZt 242 7tHX| &= H
o BHa= MG LEAM AFE ST}
- W HIE
> miles=26; yards=385;
- HIEZ, §d &= 261t 3857t B milesd} yardsOi| 224 B’ =ICF
- kilometers=1.609*(miles + yards / 1760.0 );
- BHI™E /, %, +: ALK (-, %, ...)
- printf("Wn A marathon is %f kilometers. WnWn", kilometers);
- Bt A 9%f b OlA kilometers &S O F, kilometers2| 40| £& £
= (float) FA %2 ¢X|0 ==F.
o B0 4FS =ESH{H M AX|H0| HRSIC
o =Al0| B2t HAl (Conversion rule)
° 7/2-->3,7.0/2-->3.5
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1.4 #define 1} #includel| AIE

#define LIMIT 100
#define PI 3.14159
#define C 299792.458
/* speed of light in km/sec */
# . MK 27| X|A| X} (Preprocessing Directive) :
O|—'?'—7“O| Loty ot = AHAntel SfHH - M X 2|
J|e BATS ALE RS AQl3t 20K CHAIE.
- #include"my_file.h"
- fileO|| my_file.h ZF 9| A2 Z 3t
- CHA M Sot= & o|HIFY : stdio.h, string,h,
math.h, .... <xxx.h>
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1.4 #define 1} #includel| AME
/* pacific_sea.h */

#1nclude <stdio.h>

#define AREA 2337

#define SQ_MILES PER_SQ KILOMETER 0.3861021585424458
#define SQ_FEET PER_SQ MILE (5280 * 5280)

#define SQ_INCHES_ PER_SQ FOOT 144

#define ACRES_PER_SQ_ MILE 640
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/* Pacific Sea. */

#include "pacificsea.h"

int main(void)
{
const int pacific_sea = AREA;
double acres, sq_miles, sq_feet, sq_inches;

printf("\nThe Pacific Sea covers an area");

printf(" of %d square kilometers.\n", pacificsea);
sq_miles = SQ_MILES_PER_SQ_KILOMETER * pacific_sea;
sq_feet =SQ FEET PER_SQ MILE * sq_miles;
sq_inches = SQ_INCHES_PER_SQ_FOOT * sq_feet;
acres = ACRES_PER_SQ_MILE * sq_miles;
printf(“In other units of measure this is : \n\n");
printf(“%22.7e acres\n”, acres);

printf(“%22.7e square miles \n”, sq_miles);
printf(“%22.7e square feet \n”, sq_feet);
printf(“%22.7e a square inches \n”, sq_inches);
return o;
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- H=2LE X} (Conversion Character) - printf()

c: as a character (=A})

d: as a decimal integer (10 g )

- 1d: as a long type decimal integer (long& 107! H==
e: as afl oating point number in scientific naotation
f: (K|=4.)

g as a ﬂoatlng point number (float, double)

: in the e-format or f-format, whichever is shorter as a
strmg (=XtY)

- ZtHO| abe & HSH= B
- printf("abc");
= printf("%s", "abc");
= printf("%c%c%c", 'a','b','c');
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. printf)2| &M X|’8

- %L EXf2| 4 A2 A}
> %d ->123

- %5d->_ 123

> %10d->_ 123

= %2d ->123 (A|EF0| 20 HEot X2 2t H)

o %f->654.321000(E=Z 0 2 £H)

s %12f ->  654.321000 (2™ 20 12X2| 2 E
H oSt EEEOZ £8)

© %9.2f->_ _ _ 654.32 (2FTH E0| gAIE[2=H,
0|8t 2Xl2| 2 =)
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scanf() : 7| HE &=

scanf( )2 I:HQF—,._—XH"
scanf (" % HBIE A", &#H4); HSEA HHO 2
24 HHOFS 9

':'4 H3I 2 X} (Conversion Character) - scanf()

= ¢: to a character (= A})

= d: to a decimal integer (103! )

- 1d: to a long type decimal integer (long™ 107! E )
= f: to a floating point number (float)

- If: to a floating point number (double)

= IF: to a floating point number (long double)

= s: to a string (X} €)
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if(cnt==0){
a=2;
b=3;
C=5;

}

else {
a=-1;
b=-2;
C=-3;

}

printf("%d", a+b+c);

> cent 7foats 7HA|H 10 25, AKX E2H -6 2
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- while &I
- YUH ”5]'0._' HEY : while (ZHAN{EH)

#include<stdio.h>
int main(void){
int 1=1, sum=0;
while (i<=5) {
sum-+=i;
++1;
}

printf("sum= %d ¥n", sum);
return O;
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= 44, i++; 7t

o -1, i--; YA

o 1=141; 1=1-1;



#include<stdio.h>

int main(void)

{
Int sum=0,1;
for (i=1;i<=5; ++1) {
sum+=1;
}
printf("sum= %d ¥n", sum);
return o;






